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4 possible formulas ... L
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Standard Picture (1/2) L
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Standard Picture (2/2)

Copper coated stainless steel vacuum chamber
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The parameters

Symbol Value Quantity

Pe 141075 (Qm) resistivity

o 7.2-10* (Qm)~! conductivity

b 2.1073 m tube radius (collimator distance)

tw 2.5-107%2 m wall (collimator) thickness

140 471077 Vs(Am) ™1 permeability of free space

. 1 relative permeability p,. = p/po
Wiowest 2 -810% Hz Lowest mode frequency line

Table 1: standard parameters used for computing instabilities

caused by the LHC graphite collimator
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How much istheerror? (1/2)

Transverse Re3|st|ve Wall Impedance Z (w)
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How much istheerror? (2/2) L

Transverse Re3|st|ve Wall Impedance Z (w)
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Thelimit w — 0 (1/2)

Transverse Resistive Wall Impedance Z.(w)
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Thelimit w — 0 (2/2)

Transverse Resistive Wall Impedance Z.(w)
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